EXTERNAL SURFACE
AEUSSERE OBERFLAECHE
SURFACE EXTERIEURE
SUPERFICIE ESTERNA

A1 |JED-259

I | ED-256 OR JED-256-1

111 |JED-471-0
IV | PLASTIC/KUNSTSTOFF _
- — ST ¥ MOUNTING HEIGHT
B ~ MONTAGEHOEHE
- 2136 - - ™~ Q| HAUTEUR DE MONTAGE
POSIZIONE DI MONTAGGIO
!
| | |
4 h 4 A 4 | h 4 h
C | ‘ |
‘ 432 410 020 2
| M =153 N
| INSTALATION POSITION \
o EINBAULAGE
1] | POSITION D' INSTALLATION
\ POSIZIONE DI MONTAGGIO o
D o
\' g
|
| |
. A
, _ 1054£0.3 ‘ _ ~ ~J _ 28 1. 28 /_
/O A e o 25 - ) - |
-H ie] ‘ ~
— : - w N ~
\Npj | \N»j I ! ] ! | s 7 .
! ( ( = ) ! )
yi ] g .\ 1F_= -l\ / J'I
| —
- : | e 21 % it
g et : i3
] | i 1 [\_ - —7
. Ts) o ! = |
= — S — =| 8 ———
n = 1 | I
1 | /. H W == H
| ' | 1 ! KL B B
1
G / ‘ e '/ v, L. 7 . / 7 \
| ( ) S . A (
= { Y : { . 28 I= ' =1 : ' ]
r | T 1 3 " ] 22 5 21 ADJUSTMENT MARKET WITH PAINT | |
" ‘ 1 | —_— | 2 5 EINSTELLUNG MIT LACK GEKENNNZEICHNET — 852 009 680 4 —_—
IV I | ADJUSTAGE MARQUE AVEC VERNIS
— T = - 9 REGOLAZIONE MARCATO CON VERNICE
- 110 _ SU | - \_JED-463-0 T
H - 60 _
PORT FUNCTION THREAD
ANSCHLUSS | FUNKT 10N GEW INDE
ORIFICE  |FONCTION FILETAGE
TECHNICAL DATA, TECHNISCHE DATEN, CARASTERISTIQUES TECHNIQUES, CARATTERISTICHE TECNICHE ORIFIZIO | FUNZIONE FILETTAURA
FROM THE COMPRESSOR
1 VOM KOMPRESSOR MZ2x1.5
J THERMAL RANGE OF CONTINUOUS APPLICATION: ) ) - 145 — PROVENANT DU COMPRESSEUR d=15
THERMISCHER DAUERANWENDUNGSBERRE | CH: -40°C... +65°C PROVENIENTE DEL COMPRESSORE

PLAGE DE TEMPERATURE EN UTILISATION CONTINUE:

COUNTRY OF ORIGIN TO THE RESERVOIRS

COMPO DI APPICAZIONE CONTINUA: oo s oo ISCERIBI. ele. o1 |20 00N Ll TeeraeL e Yoo
RESISTANCE TO HEAT: ﬁEXSE%%\%%'RPER d=24.5

WAERMEBESTAENDIGKEIT: 80°C MAX
+ TO RESERVOIR FOR REGENERATION AIR

RESISTANCE A LA CHALEUR: DATE OF MANUFACTURING (wwyy) MANUFACTURING PLANT
RESISTANZA AL CALORE: HERSTELLDATUM " PRODUKTIONSSTAETTE 29 |ZUM REGENERATIONS-LUFTBEHAELTER M12x1.5
DATE DE FABRICATION LIEU DE FABRICATION AU RESERVOIR D'AIR DE REGENERATION d=12

AL SERBATOII PER L'ARIA RIGENERATA

EXHAUST FOR COMPRESSED AIR
ENTLUEFTUNG FUER DRUCKLUFT
3 |ECHAPPEMENT POLR AR COMPRINE SILENCER
RSCHALTORUGK SCARIO PER ARIA COMPRESSA

K MEDIUM: COMPRESSED AIR LIOGO DI FABRICATIONE
MEDITUM: DRUCKLUFT
FLUIDE: AIR COMPRIME

FLUIDO: ARIA COMPRESSA

DATA DI FABRICATIONE

CUT OUT PRESSURE

IDENTIFICATION NUMBER

WORKING PRESSURE:
BETRIEBSDRUCK: Pe MAX = 13 bar -
PRESSION DE SERVICE:

PRESSIONE D ESERCIZIO:

IDENT IF IZIERUNGS-NUMMER
NUMERO D'IDENTIFICATION
NUMERO D'IDENTIFICATIONE

ION D' OUVERT CONTROL PORT / EXHAUST FOR COMPRESSED AIR
EEE%&SHEDD%EFE?USEE § |STEUERANSHLUSS / ENTLUEFTUNG FUER DRUCKLUFT M14x
ORIFICE DE COMMANDE / ECHAPPEMENT POUR AIR COMPRIME d-1

ORIFIZIQ DI COMANDO / SCARIO PER ARIA COMPRESSA

MAX. PERMISSIBLE FREQUENCY

MAX. ZULAESSIGE FREQUENZ o0 Hz
MAX. ADMISSIBLE FREQUENZE

MAX. AMMISIBLE FREQUENZA

DATA CODING

MAX. PERMISSIBLE ACCERELATION

MAX. ZULAESSIGE BESCHLINIGUNG +10g
ACCELERATION MAX. ADMISSIBLE

ACCELERAZIONE MAX. AMMESA

/ Rad.2 Ra 3.2 RQ 3.2
\/ C Rmax 25 C Rmax 25 C Rmax 25

MAX 125

COMBINED UNLOADER
DRUCKREGLER
REGULATEUR DE PRESSION
GRUPPO DI' REGULAZIONE

i
’l—H
N
p— =]
N\

(30)
(24)
(24)

M22x1.5

i L/
CUT OUT PRESSURE 9
ABSCHAL TDRUCK 9.540.2 bhar
PRESSION D'QUVERTURE
PRESSIONE D’APERATURA

0.1]1A

:
I\/Hé; 5
ICT
L

M12x1.5

nfrozinne costiuira un gvidente ahoso e comporterg il risor cimentn dei danni subiti.

nti do brevetti o modelli,

OPERATING RANGE
SCHAL TSPANNE 0.7*8'5 bar

PLAGE DE REGULATION 1
GAMME DI REGULATIONE

21

DYNAMIC PRESSURE OF SAFETY VALVE: ‘4
STAUDRUCK DES SICHERHEITSVENTILES: 12 0 bar (BE
PRESSION DYNAMIQUE DU SOUPAPE DE SECURITE:

PRESSIONE DINAMICA DELLA VALVOLA DI SICUREZZA:

Copying of this document and giving it to others ond the use or communication of the contents thereof, are forbidden without express

authority. Contravention of this resfriction will constitute on evident abuse ond result in a liability to the payment of domages. &l rights
are reserved in the event of the grant of palent or registration of o ufility model or design. This document is the subject of copyright.

Non e permesso consegnare o terzi ¢ riprodurre questo documento, ne ubilizzarme il conteruto o renderlo comunque rote o terzi

Senz0 auforizzozions esplicih
E'fotte riserva o futti i diri

n =100 dm®/min)

o

TORQUES FOR CONNECTIONS:

ANZUNGSMOMENT FUER EINSCHRAUBSTUT ZEN: M12x1.5: Mmox =
COUPLE DE SARRAGE DES RACCORDS M14x1.95: Mmax = 25 Nm
COPPIA DI SERRAGGIO DEI RACCORDI: M22x1.5: Mmax = 5

INSTALLATION POSITION AS DRAWN
EINBAULAGE WIE GEZEICHNET

POSITION D' INSTALLATION SUIVANT DESSIN
POSIZIONE DI MONTAGGIO COME DISEGNATO

— i — e — — . — — E— . —  — = E— . S —  — - E—  E— i —

PERMITED SILENCER:

qutorisation expresse. Tout mongquement o cette regle constitue un ohus evident &F expose son oufewr ou wersement de dommagas af

Toute Communication ou reproduction de ce document, foute exploitation ou communication de son contenu sont interdites, souf
inferefs. Tous draits de propriete industrielle reserves, notamment en matiere de brevets et de modsles.

Weerqube sowie Vervielfaeltigung dieser Unterloge, Verwertung und Miteilung ihres Inhalts nicht gestaltel, soweit

FREIGEGEBENER GERAEUSCHDAEMPFER
SILENCIEUX PERMIS
SILENZIATORE AMMESSO

432 407 012 O

General Specification: JED-334-0 Capyright WARCD®

Further Technical Dota:  PRODUCT SPECIFICATION Dote [ Signofure

Doc. Codes 035 | sheet: 1 To 4 Drawn

2013-02-M | Kurzynski

Genercl Tolerances JED-2B1

Checked

Range of Nominal Dimensions ( =+ mm) 20513-02-11 | Liter

> 80> 180 <I Expert
Closs N | <50 |« 180 [« 400|> 400 Liter

AIR DRYER
LUFTTROCKNER
DESSICATEUR D' AIR
ESSICATORE D’ ARIA

Fine 05 [ 1.0 | 1.5 | 2.0 s St

Material No. Date of first issue:

vear [X| 10 |20 [30 [40] == | 20 | 14

Coarse 20 [ 35 [ 50 | B35 ) TAD System

(241 4372 410 025 O 005 | ML

Doc.Code | Longuoge

Sheet

11

ECN-No. Rewision Techn. Resp. Replocement for

Tapped Holes acc. JED-152
‘ A QO Pro/E
1) Tolerance Closs Applied Crossmarked

5000  |remove from 4324109110

nicht ausdruecklich zugestonden. Zuwiderhandlungen stellen einen offensichtlichen Missbrauch dor und werpflichfen zu Schodenersatz.

Alle Rechte fuer den Fall der Potenterteilung oder Gebrouchsmuster-Eintragung vorbehalten.

15 16 T

18

19

T
100mm

e

20 21 ~—

—

drw: 43240100250___ 005 / Version: —EUmm: Under Review / mjd: 4324100250____AQZ O




